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217 290210 B BT ROAT WIVTITRR 2N DY IRD 11297 RNIPN2 RITNR M1
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1) First nnipn

a) Mg P nipn — "]’131:07 720107 TV IR 773207 TV I Maan”

b) m1m9K% NI NIPN — "IMIADR 00 0 D NNl 7anoR"
2) Second 7P

a) 72171 o°0o1 are enough to be 1t both 32 and na until na 2x2

b) 1wy o°051 aren’t enough to be P both 32 and na until na 72
3) Third fn7pi

a) For puyn o°oo1 the na takes min until 232 and 12 takes only what remains — if
nothing remains the ya is o°nnoi %y PXW

b) For 1211 o°0o01 there is an immediate 7pY7n — na takes a pon of the oooo1 that is
estimated to be enough for her mara until 232 and ja takes the rest — see o"aw at
WA 11297 720 "7

c) If o°oo1 were Parvn at first but were later ywyani — then — because 1w= 172191 72
in the starting 171%n — the 1”191 isn’t adjusted and 32 and n2 are 7°0on
proportionately
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4) xma
a) 'R RVIR
i) D°0212 LYANWY 177 NI
5) o"awn
a) The X7 deals with o°0o1 that would count as Py if there were no mivn for the
prhTabh
b) First vy of 'k Xoy2R

i)

'R 7% — the 7oK is xvvnn — a 127 of o°vyn 0°o21 applies to both n2 and nanox —
namely na and 739X are Pn7p to 12 until N2 732 — and after na 132 the AR is
TMIADR 37 0 IR A and 12 takes what remains — once nothing remains
12 IS 2NND Y YR

'2 7% — the 7K isn’t Xuynn — the o°021 continue to count as 1217 for na and
there is an immediate n1om as explained earlier — the na take a p%n of the o°021
that is estimated to be enough for her nmi» until 232 — 32 takes the rest of the
o°oo1 and is 31on the 7anoR out of his share

Second w10 of 'R ROVINR

i)

'R 7X — the 719K is Xvynan — the same as '} 7x for the first w1

ii) '27¢ —the MoK isn’t Xvynn — the 0°0d1 continue to count as 1217» for na and

there is an immediate 119 as explained earlier — but the man that are o°pao®
given to mnox count as a vy n after the npYon — and based on the 7 for Parn
wynniw the na and 12 are oo proportionally for mivm of the maa%x — in effect
72 INWOW I

ER7ARE:) 'R WD 72197 0°0212 7INR — "1 X9
17 379 W2 NN MR N2 | 20001 17 37 W NN Tan7RY N2 Nuynn — 'R 7X
VYN O°001 UV
TWIYY N2 9237 °20WA PAR | APIN PRWI N2 0230 020w AR Noynn 8 — "2 7%
YRNI" 73298 M TR TR 1277 P97 T2 PN TIR9RY T
12 PPTO0OMY P2Wn "IRIPN NRY
apbn 9% N

6) Twnn of the X

a) There is a similar '2 X°y2°k on whether \nwx n2 and 21 2 are Pvynn the o°oo1

7) o"awn

a) 'R 7% of "2 X°'v2XR isn’t relevant to this X"wmn



b) '27x of '2 x°wa>k that 1w N2 is Xuynn XY — the 0°021 continue to count as 172177
and there is an immediate 1% as explained earlier — mnr that are o°pa9% given
to \nwX N2 count as a v n after 190 — but na isn’t 7091 by this vwn» and instead
12 IS WK na ma out of his share

c) '27x of "2 X°w2x that 217 92 is vynn X% — the 0°021 continue to count as 21 —
there is an immediate 13?171 and the 2°021 continue to count as 121 for na until
79w nyw and 32 is 22 out of his pon without deduction for the impending 9w
by the 211 v so that in effect j2 and na are 77°2 1221 — but what the 21 %va is
actually nmw counts as a vyon after npyon and is 1091 the 32 but not the na

8) X"wann
a) X°wp to 0"aw on 1wk na and on 2 Sv31 after now

i) For'a 73 of 2 X°v2>x that poynn X7 —0"awn applies 2 7% of "2 wy7s for manox in
'R X°v2°K that the 0°021 count as ywyan PN

i) Why then for '2 7% in '} X°¥2°X is the 1>7 that 7r°2 JnwHw 1 — but in '2 7% of
X°v2°R there is no 70973 to na for later My to anwr na and for 217 5va noy

b) yn

1) The 7 for ywoynnn 12177 that 12 and n2 are 705n proportionately for the vy
applies only to a v that should affect 12 and na alike— for example where
the o°021 were 19171 or 17p%pn1 — and also for mia to naabx that is based on a
11277 mapn that applies to n2 as well as to 32

ii) But payments to 1nwx na and to 211 Hva are for man of the om0 that aren’t
the responsibility of n2 and that’s why only 32 is 7°097

c) Note that

i) until 79w nyw the potential payments to a 21 5¥2 don’t count as man of the
o'min for this purpose and that’s why in effect "7r°2 1" each from his or her
own P4

D'MIN' 2T NI90IN A P7n 1IVYNNAI '2AINNT X'AI0

PUYIAD 292977 202 P2 W PP R "D 0 AR "D TR 29I 7''Ta 'on
NII25T PPUPINDY 2 TV NI AY 2932 1 PAINRRT WV RN ORTITE "R Oy "
190 1707 IDRW 17 1N0MY YATRR ¥RIT PUYYAT SON12N INPT RUNR DR 29127 1
105N 2R 19IDRY 1757 127 ARY W2 TY I 2OIWAT PUYIAY 1211 P2 P9 IRT
DY TV NOIDN AR WY PRIRRT PIDM ROT 1XINT 2T MI0ND PRT PR TN
TWYANI 21T TIVY DT W'D 2N JTDY MO T TN AhNsD Mond

5'"mY 219D 17900% RY PUFIAY N7 ITI0DN T2 2012 NI 1
1) xn in the X3 as explained by msown — 10nw 77 1PVYIM 2°0312 173 TP 1IN "

"1 even if N2 had already been ooin their share — but 7%nn3% the P shouldn’t
be ~omn

2) nmoon



a) Nwp

i) For p21n o°oo1 the 17 is also that 1121 11onw an and that 7%nn3% the e
shouldn’t be 721

i) So what difference is there between 2y 0°021 and oy 0°001
b) v
i) There are the o> that
(1) oomn for a 9172 7% can even 7%mn2% be 192177 0°001 M

(2) and for ywoynnn 122171 the 127 is that "mian oy ov3an " while for o032
Uy the o012 aren’t 111 at all and instead the o012 are o°nnon v PYRW

3) X"wann
a) Nwp

i) moown must have already realized from the prior X>»0 in its X1k 717 that there
is the difference between 1°217 °021 and Puyn 0°021 that for 12177 o°o21 the
777 is that N2 av @127 11 while for oy o°oo1 the 7 is that 1 nuan
D°IND7 ¥ YIRW 0212

b) y1n — this is the 7277 of mooin

1) Moo notes that the &73 in its XIn°» mentions 751 175»w 77 only for 02032
vy presumably because 7101 15w i is a greater Xn12n for vy 0001 than
for 1217n 0°021 — and MoIN In its X*wp asks why in fact the kma1 is greater for
70w 2°021 than for 12177 oo

i) mooin answers that the km12n for oy 02021 is greater for two reasons

(1) First — o mn° have a greater 7> no°an in P21 0°021 than in Poyn 0°021 —
proof is that for yvyin o°021 there can never be a 7%nn3% 77001 while for
12771 0°021 there can be 7%mn3% 792 for o»aw 179 or similar purposes

(2) Second — we know from the prior &0 that 32 and na are 72 Pl in
WYANIY 17217 2°021 but not in oy 001

NONY NN A"T NIDoIN ‘A 770 1VYNNAI '2NNT X'AI0

1D AR 27 399D FTAURIT 72N DR WA 372 157 WP Y "D monw 7 ' Ta

129037 PPUYIAL 1927 MWPAND PPR1TR2 P2 JIDIRT WTBDY 1R RN RTY ang 0oy

TN2 93 NI 129031 JPUFINAR WD TP ROTT RUN AW »'RT w0 v nYw ana

TR 792 15T 2D KD M1 RMANT ani 'R 2w wehT 2w ann nyw

TR STILP 2125 YRWAT 1D TAMI 20 AHDT 2MR 1D WY WD D' DUNT 1 10T
27 "o oMb

1) 7awn in M21N3 non

a) The case

i) X3 DR 2"ARY M QW NWw W1 Y N — 32173 1210w want to apply the
11277 73pn of 172°7 1712 n2na for them to be wAy the 793173 72105 and for the



2)

3)

4)

5)

6)

7)

other o>w 1 to be w1 the mavp 72105 — the 7vp 72105 "W want the o°021 to be
split equally among all o>mn>

b) The p1

i) So long as the o°0>1 are worth at least a 227 more than the n21n> the 0w of
the 79172 720> are 7o

X3 there

a) If ywynnn an nywa a1 — meaning there was a 71°7 anw at anvn nyw but there is
No 12°7 M now — then w1 372121 925 — 739173 720w were already no1rin
the 172172 720> at e nyw when there was a 23°7

b) In a case of 127011 o NYWa VY — 07MY 27 said to 7P 72N WAY: "D YT
7!

a) o ny 27 told the mavp 72100 WA to settle with 791737 72105 "W because “wav
79172 1205 correctly argued that since there is now a 21°7 a0 it doesn’t matter
that there was no 22°7 " at nnon nyw

Twni of the X3m3 in mawnd
a) 7M1

i) WA 372107 922 YRR PARY awd

il) W 372907 [122 2°00 K9] 127011 o o
7!

a) 7am1 20 disagrees with oany 27 — the m1vp 72105 WA are 707 because at 0o nyw
there was no 21°7 ann

mooin here as explained by X"wAn
a) Nwp

i) Since 1m1 27 didn’t say 723 for 12701 vy why didn’t *"wA say that in this
case nm1 21 doesn’t go [N NYW N2

b) y1n

i) Since oy 27 told mvp 721N *war to settle with 79173 72105 *war and favored
the argument of 79173 72102 "W — and j»ma 21 disagrees with ony 21 — it
must be that yam1 21 says &xn? ®°%n n nywa both for yoynann a1 and
12701 oYM and it doesn’t matter that 1m1 27 didn’t say 12> for 12701 PoYIN

Twnn of mooin here based on the prior msoIn
a) Xwp

i) The & nx in our X210 says for 127011 Poya that 1w 172 101 as 1% 0°021 even
though the o°0>1 were Pvyn at in°n nyw — this is contrary to yam1 29



PINX M A"T NIvoIn T 770 1I0ynNl AT X210

B2 5o 1D IRY MIE2Y 7T BT 10 PN RNSDIN2 2101 1M AT "1 JavnN o 172
IND IR PI2177 2021 IND WO 2"aRDR JIWNTT RINIDD wWan RNT RRITD INIT
PLYIM 2001 WO KD AR N2 DI2wa 20Uy 29051 PT IRD W IABRT NuNn
2195 179027 R® 277w B'' "1 N2 Bor Ruynn XD OR 0102 @' Maan Dawa wan
AR PR DA PRI Pwha 2" awnpd 2%1a7 ay PN TIALRT P21 2°0012 IR
D3R 77'TANTR TR TARDRT NI IND2 MIIAT Bhawa wan U 29001 v BT
TUYIN 021 RDIDT ROOT ROR TR KD 777 JNWHR ML Puynn KD R wHh 72
29D MR ORTY 1D NATIP IR N2 INIAERT ROWAR TT UTR TIAR2 NuaT Yhawa
ROVANT NNRT PR prT 2'ameY 2" awnes TIND Nan DIawa Uy 29001 ROORT
VST 2197 PRATMA 12RT 2nsY TN PRI MDSINT 5 "D N2y nInhRT
"> YRR KD 1727 23 DY ORY 1D 290212 NUYHR INIADRT A1 WIVD NATIY TIADNT
"ODIT 10 TARDR AR WYRANI 210 DT "D 10 vans P Y0217 2wn ant

TTIN2 W'Y Do 1D nuYnn ORTY WMP N2

1) First nnTpn

a) N7 P NIPN — "PI2Y 120107 TV R 11307 7Y W nuaa”

b) m1m9K% NI NIPN — "IMIADR 00 1 D NNl 7anoR"
2) Second TP

a) 7217 o°oo1 are enough to be 11 both 2012 and mia until 732 of the N2

b) 1u¥In o°051 aren’t enough to be 1 both a°12 and mia until 232 of the N2
3) Third fn7pi

a) If o°oo1 are Puyn the mia take M until 132 and o012 take only what remains
after 132 — once nothing remains for o°12 then o°nnai 5y Yoxw>

b) If o°oo1 are a1 there is an immediate 7121 — the nia take a p%n of the o°o21 that
is estimated to be enough for their mam until 9132 and the o012 take the rest of the
0°03]

c) If o°oo1 were Parva at first but were later ywynani — then — because 1w= 172191 12
in the starting 171%n — the 1191 of the o°051 isn’t adjusted after the v n and the
0°12 and N2 are 7°0on proportionately

4) xma
a) 'R RVIR
i) D°0212 vYANWY 177 IO
5) ao"awn

a) 'x pon of this x°2o sets out two w17 by o"awn — only the first ws is relevant
here



i) The & n1x deals with o°031 that would count as 1217 if there were no mnrn for
the manox

ii) 'R 7% —the 719X is Ruynn —a 17 of 2wy o°od1 applies to both na and MoK —
namely na and 739X are Pn7P to 12 until n2 932 — and after na 132 the IR is
TMIADR 37 1 IR ol and 12 takes what remains — once nothing remains
12 IS 2NND7 Y YR

iii) "2 7% — the 739 isn’t Xuynn — the 0°021 continue to count as 1217 for na and
there is an immediate 7Y% as explained earlier — the na take a p%n of the o°oo1
that is estimated to be enough for her m» until 232 — 32 takes the rest of the
o021 and is 31on the 7anoR out of his share

2"aw1h 'R WD 122777 0°0212 TIRDR — 'R X720

o°021 17 3772 W 310N 7an7RY N2 Xoymn — 'R 78
UV
P90 PRI N2 0230 20Wwn AR Rovnn R — 273

1277 PRI 1 DONPI TIRPRY TR

6) Mmoo as explained by xX"wann
i) 'R 7% — If 7009R is Xoynn then "N1a7 7320w 1Y ... N2 oY AR N
i) "27% — If 79K isn’t Xuynn then "n1a% "o o0

7) R"wann

a) The first 7"x7 uses different words than o"awn yet still follows the first w°s of
0"awn

1) the case involves o°0>1 that count as "1™ if no account is taken of mm for
the 7aox

ii) For '} 7% the words "nmian oy manoxa nrn" mean that both have a 17 of o052
7uvIn and have an°Tp over 12

iii) For '2 7% the words "n12a% x> 51" mean that 32 is 17 the 7139x out of his pon
of the 1217 oo

b) noRw

i) Maybe in fact the X3 deals with where there are vy 0021 and when 73"x73
says for 2 7x that "n1123% &3> 201" the 73"37 means that only na has a 17 of 2°021
1uyn and only na has 777 over 12

C) mawn

i) Can’t be because a later 'a 7"x7 in mooIN agrees with '} 7" on 'k 7% but
disagrees on "2 7x and says for 'a 7% that if the 7329 isn’t Xuynn then minry"
"inwhw — and if X°va°x deals with poyin o°o21it’s a M ws that n2 has an>7p if
only na has a 17 of vy 0021

210N X7 T"N2 NISOIN ‘A 270 1VYNNA ANNT XAl

197 7' 2P %152 ON2aND 19 TIRDY 3" mINY 77T 10 TanhRT Pwn KD 7''N2
PODNT ROVAR 7 ORP RPT DIDDTIR ORP PRAWHA 197 N7 DN 5oy "0 mbwyna yawn



PUYIR 29021 PT IND WO NI OV 2012 WA KRUN NATIP TIRPR N2Y TIRbR 72
NLYRR KD OR D2 292197 202057 12 90 NITATT DR 2ORATIDT WD RO BRI
"M27Y N2% NATIP RO NN RDOTYY RUYANRT PI0AT ORAD THNT AR TIRBNRT

1)

2)

3)

4)

5)

11971 299712 IR 7712 BT
prtay (rhy

a) We established in the prior m2°7 that the first 7" and the second 73" differ only
in 2 7% of '} ®°v2°x — namely on the 7% that an 7129X isn’t Xvynn in a case where
the o°021 count as 12177 if no account is taken of the maaox

Rapfab}
a) " xv2X —which of na or mnox has mn>7p
mooin as explained by x"wann

a) for areason not relevant here msoin establishes that where there are no o°3a there
can be no n>7p for na at all — so that even 'x X°v2°Xk that mentions 7an5x and na but
doesn’t mention 32 still must deal with where there is 12 as well as na and 7an%x

b) aoRw

1) How then does 'k x*v2>x differ from "3 X°y2°K
c) mawn

i) this is the myw of the X

i) m% >xm°n ax for '} ®°v2°K on P21 0°0d1 that 'K 7% is correct that 73R is
12177 2°0012 Ruvan so that — based on the 1vyin 2°021 17 — N2 and 7an%x both
have a nn>7p over 12

iii) Then ask 'x ®x°y2°& on which of na or 7an%x has 77 where the 17 of 2°05:
Ty applies to both

Twnn of mooin as explained by X"wAmn
a) °now17 supports this explanation of s Roya'K
X"wann
a) noRw
i) Should we try to be p>>7 from »»%w1° which 1"am is correct
b) nawn

1) We’ve established that '} 17"27 and "2 7"37 disagree only on '2 7¢ of '} X°y2K
and that 'x X>v2°x applies only if '} 7% of 'k X*¥2°X is correct

ii) Since "now17 is 3 Xoy2R v» it follows that »n5w12 holds that '} 7% of '® RoY2R
is correct — and since 'x 17" and '2 "7 agree on the meaning of 'k 7x of
'} ®v2R it follows further that mooin doesn’t refer to "1 to decide which
17"x7 1S correct

10



oxX n"T0"awn

YOI 717 RY 11D 57 KT K232 J39ARTS "2 an A "2 2" awnea [2 Ty »p 0T
7 2NN DT AR ART PR 2R B H''op "2 a1 PR 1R 298D NTORa
7APINY TIAY DIN WMNYTT KOK 00 30 0O pOOR 21K D1 10 157 AR P HRoa M
nNY ONYTR POOR KDY 2NN NI PER 7 KD RBWT 2ORIND KDY MRP TIN0
RO27W RUTTR T2 WPA KDY 10 AR 952 2NN DT PR A1 ORI 2MAIRND AR
A% ANMT "D 2R TAR 29D W 7TYY 2OMLR APl AN 9 5T 2R aph a''awn
SIW PWHY 127 2NN WIPT 11D YA AR TR WITRIY 29NN NTI02 YIRS RY
579 R INY Map: "1 552 917 721 an D92 191 2357 '2 A1 97 15T 2R Y902 R
P
1) nwn
737 5011 707 — a2 107 7797 — DONR? 12721 OX 731 727 SNWR 790 OR IRT
ONRA DY 3Pl
2) o"awn
a) The mwn can’t mean that the nwx was n771> both a 751 and a nap1 because if so
there are two reasons why the ax need give nothing at all

i) First the ok can say that he never intended to give anything if there is both a
7ot and a 7ap:

i) Second — even if he intended to give money if there is both a 257 and a n2ap1 —
ax can still say that his actual words didn’t cover the birth of both a 757 and a
napl

3) mwn in 770 brought by o"awn at ank X211 3"

a) If a person says of an m72 12w: "oon%w 721 ok 79w o1 ox" — then if two ovo7 are
born — 7371 >2°°1% o1 3w 7w 2990 17 TR — and if two nap1 are born — 3 nnX
T AT DLW 220D onn MW 2w 27PN

4) X"wn
a) Nwp
i) Why in each case does one of the n171 become w1
b) v n

i) First —as regards what the w>7pn intended — if the w>7pn was prepared to be
W>TPn one 771 there’s no reason to think that he didn’t intend to be w>7pn one
791 where there are two m791 given that the second 771 benefits the w>7p when
it’s sold

i) Second — as regards what the w>7pn said — even though the words ox 721 oX
7221 in our X°x10 don’t refer to a 101 and a 721 — the words 721 ox 121 ok do
include two o921 or two napa

11



NP Q71

NN N21 2T 0"awn 'R 27N 0w NITIT Xlo

IR NRNTR TR DI KD "D R 9027 JORY R0 RTR PR 1D R Xan '
TAR PR 2WNTR 1T OR DOWTP NITOIRT 1927 N7 KD ''OY "D IR Syna R
WP RNTD B2 NN NRANT NPRWRT RIT ON2T 23 DY OR WI0HY RNTR TR TN
PRATR 37 NN 2WTIP OTONT DRWNAA 12 PYRR ' N20pT ann mRp 7'
N7 225 WO 110D RWITR 9T KDY RAT 19027 100 PRIR HYa 177 30
DT DRNTR PO DT RY PAR N2 ORT ARP RN12DY IVRP 7RI DT NDana

TP'TY RYT TOMAT 0

1) First nnTpn

a) There is a np12nn whether 2owY7p 177 1K Sna WP M7 0r 17 1M1 22w MTN
TR

b) For the anx7 187 that Dw17R 17 1R “¥n2 WP MI21 — an o°wIp *vna 121w becomes
WP 0N its 77°%° — an P2 N2 svna 12w becomes wp when Sva is wrpn 1°02 the
q2w after its 7y

c) For the &7 181 that o°w17p 17 10°°172 22WIR MT21 — an o°wTp “¥yna 12w becomes
v at "ynia" meaning 772 nywa — o nwTp of an 19 niana syna "W s also o
only at 772 nyw

2) Second nnTpi
a) NXn2y 210 agree that 77102 Nw17R ON an P20 N2 “YnR2 121 N2W isn’t Pr until 77b

b) Xn%y °715 also agree that the 7122 nwvTp isn’t on at all if 15 nwyTp for nanx nwTp is
51 not later than 775

3) Third fn7pi
a) A o develops in an 12w only after 7oy
4) Fourth mnpn
a) "W Tp can’t be Hion a nnta once it’s a o Hva
b) It follows that
i) If 2wYTp 17 1K Svna 0w M

(1) »x nw7p can be 1 on an 12w who is found to have a o because the
wITR IS 771°%° nywa on before there was a omn

(2) vo NP can’t be 1 on an 12w who has a o because the o was already
present a moment after 77°%> before o nup

i) If oowyTp 37 3nmna

12



(1) Neither vx nwyp nor 1o w7 can be 1 on an 12y who has a o because
the nunTp can’t be 1 until 771°% when there already is a o that was formed
after ny

5) o"awn

a) 1wITP can’t be P on a o that counts as a o1 Yya for the x7 18 that M7,
DOWNTR 17 1AR YN WP

6) R"wann at mR R a7
a) Nwp

i)  We just established that for this 2nK7 18 — MR nw17R can be % onan Hya 12w
o — because the wrTp is 9n1 at 71°%> nyw before there is a om

b) y»n

i) o"aw" deals with a 1711 n122n that a person is 152 w>7pn to avoid the nwnTp of
77102 that w7 935 can’t be %n until 77°% nyw — and teaches — as we’ve
explained — that o nw17p can’t be %r on a ownw that’s a o Hva even for the
TnRT 181 Who holds that w11 07 onk “yna owIp NI

NN q7T

22N TUNaI "AXT XX "N 2 27N 0w DT Xalo

YHY TOR MAR DRITR RTON 29 DaR "1 MaRh RYN 77172 NI190IN [R TP RRp 07]

R? 195 NWITR KPR RTOM 29% 3709Y 79T 2WNTR NN 7R M b b oy "o

YR} P2 {207 17} 10Nma {I9R} 302 2IWTR NATaaT POIT NRTaL 1M 1YY R
19''PY 30D I AR NRTR {2WNTR 37 RN Svna

"9 MIaT IR 772 ININD SIBRT KW 2@ Hon "D RATHT D PR Dar 7''Na
73 K357 177 2N 537957 132 M9aARDT MARTA 79197 K27 KI20 7757 ;77 95 5oy
“"'17Y NI IR ROT TTIM AN 20D DRIOMA 12 VR 129 X399 N

1) First anTpn — npionn of 9%0%n3 12 Pwnw 127 and 1329
a) 112

i) oDwmwisn’ta 72 that’s a om Hva — instead D is a 2P PO 17 PoO that’s
not a o Yva

ii) It follows as explained in the prior m12°7 that "x nw17p can be %n on a o
even if 2w7p 17 1Nn2

b) “Ronx 12 Pynw 121
i) Dwmw isa™a that’s a o ¥ and DwTR 37 1NN DOWIRP MTN
ii) It follows as explained in the prior 112°7 that "x& nwyTp can’t be 21 on a ownw

MR DUVITP 0 WP MTN
Wil 72p1 P50 10T POD N7 19K 197K 1127
POV 9m XD o Hya P12 kbl A"awn
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2) Second n7pn based on the ywynann Pa1nT KO3

a) If there are 12171 0°021 — 051 take more of the o°021 than mapa

b) If there are only Pvyin 0°031 — Mmapi take more of the o°031 than o1
3) mwn

a) Xw» - "maan "

NP3 PER IMR MT 227917 P D023 AT DWW MY 0212 10T
0107 DER IMR PHIT NP1 POV 0°0313

b) x9°0 —">nwX 7on OR"
SU1R DA 7720 DUNRM 2R3 737 210° 13T SNWR 72N DR NN

c) Mxpa
NN M7 WA AWRT 1T AU N7 71wn
5011 1K 200 750 ox N0 mwn
4) xma
a) Nwp

i) Inthe xw™ the mawn says 1Mk Pm7 — presumably implying that 12 w1 mx pm
— S0 DM takes as a 757 or a 7131 depending on whichever of 257 or f2ap1
takes less

i) While in the x2°0 the mwn says that owmv takes nothing at all — in other
words: 17 7R MR M7

b) y1vnof »ax

i) when the xw»1 says 1R 117 the Xw*1 means 12 1°X1 1NR M7 the same as the
XDD

c) yrnof xan

i) The xw in fact means Y2 w amx m7 because the xw» follows 1121 that
WM isn’t a 12 and is instead a 72p31 P50 137 PHO

ii) The xo°0 says 12 P& because it follows 5X°%13 12 NWwinw 127 who says owmw is a
92 who has no rights of a 1o1 or of a napa

X2 IR

77 20 Y v APALY MR TMT DWW miaa P ey R mwn
790 K71

7777 AW 19 PR WV PR 501 1R DN 750 ox RDD mwn
k=R sh

5) Xn»92.0n M7 TR =12 W IMK PT
6) Twnn of the X
a) Nwp

i) X217 can explain that the xn»92 follows the x> of the mawn and says Mk M7
2w for 1120

14



i) But the xn>"2is a xwp for »ar who says both the x> and the &0 of the
mawn hold that 1% 1R MR M7

X2 IR
AT D M W APAE NI T D00 maan i v XY™ mwn
790
1777 AW 19 PR Y PR 5011 1R DW0AY 750 oX RDD mwn
!
MITT 33200 o w Rwp % W owmn nNan A XN»12
)

b) The yy7°n of the x7n) isn’t relevant at this point
7) mooin at »ard Xox "7
a) Nwp

i) the X3 ought to answer for »»ax that the 7awn says 17 1R because it follows
2913 12 W 127 who says owmw is a 12 while the xn>>1a says 172 w° because
it follows 1327 who say oywm is a 7ap1 Poo 121 Po0

X IR

M7 IPd M W AWV PR | MR PMTDWMY | DT e ey XW™ mwn
P90 2 7

A" 17 PR AMaRMD % PR SN IR D10 790 OX RDD 7Iwn
a2 7 2 977

T 13373 79 v M7 33290 o v 12 W D mIaa nm Xn>M3
o0 L)

b) y1n

i) X701 27 says elsewhere that X923 12 wnw 127 agrees that a mwnw is a 231 poo
72°p1 poo — the xa prefers a y1on for »ax that applies even for X707 21

X2 a8
AT WY | K70 20 AT awn MR PIIT D0 maaa e ey XU mawn
P50 b ROWP oo
» PR
AW PR | RO 299 A aws DU IR DM 790 Ox RDD mwn
2 7T b ROWPY PR
™ PR
AT AR W | ATawed pa v we 12 > Dwmw miaa IR Xn*M2
P50 777 33295 2
PED

8) Twnn of mooin
a) Nwp

i) For &70m 27 who says for H&>%3 12 17wnw 127 that o1wmw isn’t a 12 and so isn’t
a om vl

i) why for 5923 12 Y 127 can’t MR nwTp for owTp M7 be 1 on a owmw

MR NP fa) ofagle] oWIP MIN
Wit 7271 250 137 POD NPT 19X 199X 1127
7191 R? RRR NWP 772p3 PEC 137 PED [3n7°22] 12 X707 277 "2
1oy

b) v n

15



i) X701 27 says that HR°%n3 12 1w 127 agrees that vax nwvTp is in fact 5non "2w
ajlefabie

(1) %0513 12 PR 127 is P2 with 3329 only for vo nwaTp — HR09103 12 YRY 127
says 1’5 nwTp isn’t 91 on a owmw while 1327 say o nwTp is o on a owmw

(2) because 2x*913 12 Nwnw 127 says that although owmw isn’t a »12 and isn’t a
o still pook "ny7 1R meaning the o2 w7pn doesn’t intend to be w>7pn a
»o0 — while 1127 say that poox %1 ny7

c) Tpa as explained by X"wonn at »aR? 89X 7"7

i) since Dwmw is a m2p1 po0 157 Poo and isn’t a o Hya — it follows that mx nwTp
is 15y 51 whether 22w1Tp 377 12X “yna WwTp M2 Or 2°WTR 37 30202 because the
wYTR isn’t based on Ny

ii) It’s only 15 nw7p that isn’t 2 for HX°%13 12 ynw 127 because poox “nyT X for

VD DUNTR
5 NRTR MR NP fa) oo} ] oW MTN
nYTT YRY TN oy a9 72P1 P20 707 PD | W'Y 1NN R 170K 112
POON 13 1R YN 198
TRT 1OV 7Tom KD vhY 7o IR 723 PO0 5T PHD [3n722] 102 X701 279 A"
PEER YT

9) Twni of mooin
a) Nwp

i) Then why doesn’t the X3 answer for »»ax that the xn»92 follows "7 3129
5X°%n3 12 Nwaw who hold that poox sn1 “nyT

=R IR

T 1327009 W W PR A" 2w MR PIT WY mIan P e R MWn
750 PPON 'NYT PRT

A" 17 PR W PR A" 2w S0 IR D10 790 OX RDD Iwn
bR PEOR "SNYT PRT

MMT DV W | ApTT P we 12 W Dy N N XN*92
50 PEOR "1

b) v

i) It’s 7anon that although 1121 disagree with %°%13 12 1wnw 127 on 727pn and
hold that poox >n1 "ny7 — still in the xn>92 that doesn’t deal with 7129p7 the 1129
would be 777 that pooR "nvT PR

ii) And this explains why this 777 wouldn’t answer the X>wp of the &3 to »ax

R27 IR
ATV W | OPRTIZ PRATAWT | I T 0w maan P e RW 71wn
P90 PDOR "nyT
AW PR | PRI PR AN SR DM 720 OX RD0 7Iwn
592 17 PDOR "NY7
T 1327079 b wpnT Jam 12 > Dwmu manm Xn>2
Po0 WIBNRT T
“nYT PN P
N9 POOR
7aapns

c) xwp of 1%
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1) Return to the nv>w of X271 that the 7awnT X and the kn»92 (M127 Nin) that
say 17 v follow 1327 who say that owmw is 72p1 P50 131 250 — and that the
mwnT 8920 (720 oK) that 1% X follows Px°%13 12 P 127 (not according to 21
x70m) that o1wmw is a 12 that’s a o Hva

i) Why not say for X2 instead that the x> and x9°0 and the &n>>12 all follow
2X°913 12 1w 127 according to X7on 27 that wnw is a poo — and the xwa and
xn>>12 both say 12 v because they deal with n11277 117 that’s a 7"2 *Xin and
that’s why poox *»1 "nyT — while the X9°0 says 17 1°X1 1R 1mM7 because the ko0
deals with "7%n ox" that’s not a 7"2 °Rin and that’s why pooxR “ny7 PR

R277 XX

7279 199K W wo MR T TWRT N RW™M Mwn
HRYoRN 12 YR
7''2 R0 nAnRT
PEON 21 nyT

NYAY 1272 PR S0 R 750 oX RDD mwn
PRT OR973 12
X927 POOXR "nyT
7"2°%10 M7

129% WK 1w v WK N Xn»1a

HRYORN 12 YR
7''2 SR1In nAnnY
PEON a1 YT

10) X"wann

a) Note in the following table that moaoin here asks a X*wp of "xn°X1" to K21 that’s the
exact opposite of how mooin explains earlier why »ax can’t explain the mawn and
Xn»12 according to X701 21 — namely mooin says for »ax that for x7om 27 the 3121
0N M2 AWK 1 agree with 5X°913 12 wnaw 127 that poox “ny7 X for cases that
don’t involve 72797 — while mpoin here asks why &27 doesn’t say that even 3127
OR°7n3 12 Nwaw agrees that for 7wk 1317 that’s a 17 n°2 °Xin the 17 is POOXR 11 “nyT
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N9 XX

RINAT KAV
»aRY WpnT

bRYRs 12 YR
7''2 SRIn nanRT
POON M1 Ny

9IDRT 2w
nY7 PN [
R PoOR
mavpTa

129% WOBR Y WY | PRTIY PR AN MR M7 WK T R Mwn
bRYRs 12 IR POOR "ny7
7''2 9NIN N
PEON 721 nyT
TYAY 12V PR | PRT D PR A" SR 790 ox RDD mIwn
PPRT 980973 12 POOR "nyT
X?7 PDOXR PNy
7"2°X10 M7
1299 ¥R W v TR WPRT J2m Al el TWRT N Xn>12

NN q7T

INX X7 nN2;221 DT Xl XNa

92 RINY "10 A1 77231 5T AR A1 MART AR KD 772010 707 KT RORA [2 TRy Xap 7]
TART 9577 W W92 2" awn W KD NNUNKR2Y 2''awNss PRI 20wn XY X9
799 WADATS MINAR 9277 RTIADN 7790 wNDK 177 2''RT 112 R9511 92 RNy 72p1 157

15?1 RNYM2AR RO

1) mawn at :np A7

2)

3)

nbun fyimivhiphtal D011 707 fyimiphhRnisl} 772° D°DR7 71321 OKX 712 727 "NWN 790 DX

Q°nNn

n"awn at :ap a7

both 151 and a 7ap:

NN”92

The mwn doesn’t deal with a person who says 77n ax both 257 and 721 — and it
follows that when the mawn says "mapa 231 779" the mawn doesn’t mean that 779

957 37927 731 72°P1 OR 73 W7 79T OX WK YW M7 091 773 21WwanT
737 KPR 17 PR 72PN

4) xma
a) Nwp

i) The jmadidn’t say that 73 210 7221 937 1WA

b) v n

i) In fact the 11 did say 7an 20 72p21 937 1wann

5) ao"awn
a) Xwp

i) Then why doesn’t the Xn>92 mention this statement

18




b) v
i) 2°TRY 22w KXY X9217 2 XIn
6) X"wann
a) Nwpona"awn

1) Why doesn’t 2"awn assume also for the miwn that the 1mz said that there is to
be a payment if 72p11 751 77971 but the mawn doesn’t mention this because Xin
9OTRY 22w XY X991 0D

b) yn

1) If so—the same as for the xn>12 — the & na should have asked for the miwn
that "R &% 72p1 791 87 and the X723 should have answered that the 011 in fact
did make this statement and %°1x) 2°wn X% 89217 %3 Rin

7 Xn'™71 XAl X' apna 2 ane " Xnt7r xona
'nMwana

799 SN 9017 "7 901 TR RDITYY 1D 301 D 79 M201 KT 22 0" v XYY aw
STRYTY P2 790 SIRW KD 'Y 2''2 9" DaR 12T 70T 920 SOWOIRD TR XPNTT
"D 9% NIRT 1901 2%127 2 12 AR WININAT 20 NITT MRY NAMR TRITD TI9ORR

TP ARY NAMR IR TWINYD TIDIRM RN 12 PRAY PR 2T 79T 0N

N2'% K927 RN932 799 RDOTYT N7 RDWIT X920 291097 10 S1wana 790 XYY aw
JH'"RY 79 Swan BN NPWI MWD 1A' T 77T 3 2R0T SRITARY NN02R RYN b

1) mwn
721 7137 W1 79T 72P D97 77971 2ONRM 11AP3 OR 7131 97 NWR 77N oK N
ok valbaipleahi
2) XM
a) Nwp

i) 721 "% 897V N27 XN
b) 10 of oxnaw
i) 2°12% 779 12°0 79NN N2 IMRT RTOM 277 J°POY N12212 RO
c) yrenof anr an
i) It’s more important to support N2 than to support 0°12 — 721N K77 X217 °D
3) anTpn
a) "oV ' — "1 17w Naw
b) X11727—"21% PR AW
4) XM
a) Nwp by 1m1 27 to X172
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5)

6)

7)

i) inthe mwn the person who’s %111 the 7an is presumably the p13°n who was
an 12w at the time of the 7K

ii) this proves that 5117 w° 72w
b) y1n by k172

1) 7RI N YTV OTRIPNIWN
c) Nwp

i)  Why didn’t ®177 27 answer that the mawn follows *01° " who says that 1% @ "2w
R}

d) yrrn

i) Because it’s possible that >0y "1 says 2112 @ 22w only for R ax27 AW
and not "vaxy nnma w1 where a person is ;121 to an n2w

e) Twni of the xnmx as explained by X"wamn at % ko "7
1) nnpn
(1) 712 32 1AM ' says 0°137 1°2 127 2072 QTR W
(2) It follows that 712 72 13 " isn’t Porn between 9 R axan W to qwr»
paksialalgta
i) xwp

(1) Say that 7112 32 73m1> "1 agrees with "o "1 who says 51 17 w° 72w — and
since npYN2 12 1AM M isn’t ponn between Ry axan awi and  nann nwy
1y it follows that he goes beyond >o1 "1 and holds that 21 17 w> 22w also
for vaxy nnma

Twnn of the Xna
a) Nwp

i) &7 27 could also have explained that the mawn doesn’t involve a 22w% ninn at
all and that in the ;72w the 7an is paid — not to the 22w — but to the =wan who
announces that the 221w is born

X"wnn at 21 wana Y R
a) Nwp
i) But if the n1n for a 721 and the o nx for 7273 go to the awan the y1°n of 29
777 no longer applies that 2 is favored for support 7210°% 897 °2°7 %5
b) v n
i) °n1°07 PR —the 7wpn has to rely on the y17°n of Hxmw that 13°poy n122na Xo5
Twni of R"wammn

a) ®wp by 1"ann — If the mawn deals with a 71nn to the “wan the mawn should have said
"2onRn vl 731 oR" instead of "oinxn nPwv 7P OXR"
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AN A" TN
"1 3322 "IN I N2 MWIRW 2IW2 R 1" 1R "D A 29 7R 7''a 'on
1322 YRT "D DA W7 RV 9 RIVAR RI2 VARPT DR 271 90w "o mph oD
TIAYYY RITT 27 91 MARPTY 1322 199K 2100 17217 17190 NYDT MARP RINT 2072 PIDRD
DR STI0 RINT 20 2907 Do 1122 MR KD anTT 23 By a8 7Ip XD Thnws® nN MR
M7 KON IIRD 112 192 A0DD NI KD PAYRARA ROTT TP 1122 K277 19BR 9957 0
RNPID 7T RNOR A9R17927 9''9 9257 1900102 9P P 277 AP 9557 A0En 1
15" 3" AR W7 WA 122 AR P nww anT

1) 'RonTpn

a) TIWN — 7737 D01 797 7790 730 D107 0T SNWR 797 OR NN
2) "2 7nTRn — Daw 3T 8N2

a) A7 °0212 WA N2 ININ N2V INWR TNAW R DO X
3) annipn

a) 0P " — "1 17 v naw

b) X127 —""011% PR 92w
4) "7 anTpn - R

a) Nwp by 1am1 2 to X117 27 — the mawn obviously holds that 73p 22w5 [0

b) y17°n of X117 27 - ARIW 1 YT 1R NIV

c) Nwp

1) Why doesn’t 81171 21 answer that the mawn deals with where the 1ni1 said
"7onws"

d) y»n
7P K2 72NWI% AR RI1T 27 INRT PRYD? 8117 20

AR MR KT 27 — 7P ToNWIY 7P KD N2WH 7OTAT MR AN 27 — NNRT
NAW 937 RN2 92 719 93 7339 77 70K 737 IR AR DWW 27 — 739 X2 790w
"Tonwo" X277 XN™MI27 19IR2 AT

5) mooin
a) Nwp

i) 7am1 27 himself agrees with X177 27 that 73p 8% 1239 7017 — why doesn’t 29
1 realize that the mawn is a X°wp to ym1 27 himself the same as the mwn is a
X°wp to X177 20

b) v1n of "n1oK

i) 737 "1 says on :anp A7 that 723p 112 XIAW 1289 7210 — 1M1 21 agrees with
11 and can say the mawn deals with an 92w who’s 112

6) R"wann
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b)

Xowp

i) If x720m there can be a 12°n between 112 and 112 1°Xw how can nww 21 rely on
the xn»12 that deals with 112 to prove that an 22w is nnp even for 12 1°Rw

ii) In fact »n5wy for this reason is im7 the &1 of nww 27
First y1°n
i) 7am127in our X2 in fact is ponn between w2 and w2 wRw
ii) Now
(1) Although the &3 mentions only that x11:7 29 holds that 73p 8% 72nw> A8 —
in fact X177 21 also holds that 71p XS 1127 A&
(2) nww 21 relies on the xn>92 of nuw 23 to prove that 71p 127
Second y1°n

i) The x°»0 isn’t aware of a P17°11 between 112 and 112 1°Xw and that’s why 29
nww relies on the Xn>92 to prove that 12w is 7217 in all cases

ii) It’s only 33 "y who in the separate &°x10 on :a»p 77 deals with 112 — and n»voIn
explains that 1»m1 27 can say that the mawn follows the nv>w of j3m ' on 12

NiNTEN 'X 270 7019 MY T XAl

1)

2)

3)

4)

5)

6)

7)

First 7n7pn

a)

0°72y can eat 0N if they’re 1905 117 of a "w> 175

Second 7P

a)

if any pon of an 72y is owned by a person who isn’t a qw> 3775 — for example a 71 or
a mapi or a Yon — the 7av isn’t m17N2 o

Third nnTpi

a)

nais nwy the o051 of a nn who has no o132 or 0377 *R¥Y

Fourth nn7pn

a) oY 'says o1 1h W Naw

b) >o1 "7 1327 according to nww 21 say a1 Y wo 12w

c) °ov 171127 according to YRvaw and X171 27 say a1 1% PR 12w

Fifth nn7pn

a) Even if “a1 1% w° 72w — there’s no "1 for a nap1 who has "nx

Sixth nnpn

a) It’s a muws that there’s no 21 for an w2 NHW 22w Or MK INPDIW

Seventh n7pa

a) A wvwn of 012w are at any time w22 o°ni — this applies even to 0>72w that 10757

MK at a later time
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b) "xn»p 12" means an 121 that is not v nn
c) half of all o>~2w that are &»>°p *12 are o121 and the other half are mapa

d) it follows that at any given time o°121v 211 are X»>°p *12 and are either o»37 or
map1 —and a viyen of oMW are kn»p 12 001

8) Eighth mnpn
a) oY ' is XMWY wrn — it follows that he’s wwin that an 121w might be a &n>°p 32 957

b) o1 "7 1127 aren’t RV MY wn — it follows that they’re not wwn that an 921w might
be a Rxn>p 2 707

c) Both oy " and >ov 17 1327 are 82175 woon that an 12w is either a Xx»»p 32101 0r a
Xn*p N2 7apl

9) Ninth mn7pn
a) RmMw —

i) nnw 10 °72Y are mmn2 998 based on any o w> o033 in the whole answn of
0°3715 so long as all actual ownr in the o>72y are o°w> 0172

b) It follows that

i) If 5112 Pr 121w ar and is only no1r beginning with 77°% — it follows that until
772 any 209 in the 22w isn’t naw 172 >72y Y010 and until 772 the 175 >7av are
7m17N2 20X based on 3912 anown

i) If 2139 v 921w any 200 in the 92w isn’t naw 175 72y H010 and there is no time
when the 1715 >72v are 71702 9218 based on 7913 anown

10) Tenth fn7pi
a) "nmIroyna o 32 701 2w is a v until 77
b) "y nayna3a0 12 991 12w is a 3o even while still an M2y

MUy ANT A2"Th "2 P70 1'ax rTay 7019 12T X110

RI7 2R W'D "5 RUIMWD K77 1D 00N 9T KT AN PAN 72 HOID 10 22w N7 7''a
2R HRWS AR ITAY 721N 9IRMR 7' INOIT PN MINGY 2oy "D hNaw
2R Y9N KPR W51 A7 RATY TR MRD RTT 12 TR DVID NRMAY NITD R RITW
TTRYIA TNOTRD AR R PIAD BRANIR T RV I AR M7aya MYD 2 97 vTay
M2IYTR AR TR R DOIDY 2OI7OM MARY AR 9D BY AR NITD KUY VP KRNI
29 9P NXP 99T RIATY DRIAWD DR Dhawa M1oRD) av01D) 0 0 ana o

9'"PY PR MDOINT W'D TRINAR 1917 RROT PRNINR N

1) mwn in mMn2> — 0P " says that 9°oxn 119X H010 12w — but after 77°% the former 12w is
22oxn and is no longer Y019

2) mooin — although an 121w who’s a "nams >yna 71" is 9°0Kn 11°%1 Y0 — for a reason not
relevant here it can’t be that *01 " refers in his &% refers to nii2 “yna 7

3) X"wann
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4)

TR

i) Presumably nm»oin means that *o1 "1 doesn’t refer to a "21" who’s an 32 72w
R

b) xwp
1) Butitshould be a muv ws that >0 "1 doesn’t refer to this 71 because
(1) how could there even be a x°nX 7377 that an 2X7w» 12 22w iS 77102 2087
(2) and how could there even be a x°nx M1 that after 77°% the former 121 isn’t
501 the 370 >72Y
C) y™n
i)  When mooin says that *01° " doesn’t refer to an 91 X317 oX 1728 *72v 5019 72"
"nano vyna
i) moown means that *01 ' doesn’t refer to an 3772 72 72w who’s 2287 11°K1 2019
because 1mx was a 7w1na and the 2w if a ®»°°p 32 721 1s a 1 in the sense that
he’s a %70
d) noxw
i) Precisely how is the 2010 721w any naw var *72v who’d otherwise be 9218
N2
e) Tawn
i) Since >0 " holds that 21 1% w° 72w and is Xown? w»n — o1 M is wrn that the
121w might be a &»*p 12 %1 151 who has a pon in the 072y
ii) If not for the 22w the o>72y would otherwise be nn17n2 %218 based on nownn
7715 according to Sxmw
f) noxw
i) Why is it relevant to mooin that the 22w is niio >vina
g) mawn
i) To teach the xman that the 121w is 019 even though naw 1°28 was a 1772 and &
IS a nio
R"Wn W
a) This 721 in mooin is "nxp 17" to an XN PR by nww 21 on the mww of 1127 in

1917 XX P9 that mdoIn mentions and R"wAnn is waon below at X 21° 12137 0N
0P a7
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ang 7

Tnwdo? a"1Tn"awn

TR PRT 122" 39057 23 5V R "D map Tonws® 772 2" awnna [R TRy anp 7]
MN207 0" 2w TV AW AN VIR NITATA T2 1Y R''op "o Rom R'abw mipn
T'"mY 7712 27 0D R1YT 20

TNX OI' 2 2" TN "a P70 7019 121V T X110

1R B''oY 1D KD A1 11297 9010 ™MD RNM2 T NT KDY "0 TN 21 12 7''7a 'on
RNIM2 7 9057 IMTH YRR 1T 7107 00 MR M2 112907 DRI B''0T7 1" K1 a0
1H'"PY R2TY MAR DY 7O 1T 9357 INPAT KU '

20 T1"N2 T P70 7019 M2IYT X110

B9 5oy (92:7) 77990 90 MY Va2 2T AR "D 20 RPW %0 annT B 7'Ra
RV RYTT 00 IR WKW 23 YU R 1R 20w D70 wmk RDRT 9 annT
TNR JIRT K21 N2 51mD 39 DK 72TR K27 DAN 102 WoRY KDY naps asnnb

2H'"PY 71997 1T NIRY PPRvERR oY

1) nawn and Xanxin 1917 X¥ P19 as explained by nmvoin and X"wn
a) 1127 hold that 7702 210891 NP 375 72V 010 1R 12w
b) nww 27 says 1327 hold that 21 Y2 @ 221w and he explains the nvw of 1321 this way

i) The 22w is 7w nand *yn3a so that if the 12w is a X»>°p 12 101 he’s a 9911 and
he’d be H019 the 172 >72 if "»>01 7% W 121w so that he owns a pon in the ov72y —
note also that if the 121 is a X»»p na 7ap1 the 12w is also %019 the 072y if w»
21 179 because she has no onx

ii) 7127 say the 12w isn’t 2019 even though they hold that »>>1 12 v 22w because

(1) there are o> w> o°nX so that if the 121w is a 72p1 she has no o°72v2 pon and
isn’t 019 — it follows that 121y is 2019 only if he’s a Xn»p 12 571 07

(2) and the possibility that the 121w is a x»»p 12 101 is only a v n against the
211 that consists of m2°p17 xnn plus the vyon of o»1o1 that are w22 nn —
and we’ve established that 1127 aren’t X01w°n% v n

2) XnUM2

T3T7 MWKRY WAY 2"IR? 22w DY 09T 120 KPT 19021 PRIW 17221 DA A
IMIRT W2APY 1°0012 NPIW DNXPR PRI INWR 79°07WD 710271 0% NN2wn
IRY —PIW2 PIIAAY IR P K? — MWK 732°07W 0107 — ANWRI2 PUIIAY

1P — MWK 700

3) mooin as explained by x"wann
a) Note that
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i) In the case of nww 21 for 1121 the 370 >72v are 909 only if the 12w isa 32707
xn>p and that’s a 01w as we’ve explained

i) while in the kn>92 of nnw 23 the 73 has no other o>wa1 - so the 72w would be
7P whether it’s a 82>p 12 727 Or @ 87> N2 721 — this possibility is a 217
compared to the w1y°»n of 2121w who were 022 1n» when the o> 1w were P>

ONN '0212 7nin 2" TN

Ao w1k A7 R oy "D 7ab N3P KON WD 777 ROW 1101 "D ve0ia b a''Ta
AR 2 32 RPITT 2INPY 7T AW KD AR 2IARY 1001 MIpm 2% 7w 19 wha BN
MDD WD RAOIT RDR 2N 10212 19T KD 12 AR 1ARD mIh 1ann b

1H'"PY 2932 Y9 WY AR AR 19021 TR IR AT WOINRT O

ANp 971

N INNI DX 'RNXIEXNA X .7'1n AINNI NXT KX'A10

MDD WIT WM RMAT 2" 2wNDY ek I 99MY IR ORBRRY RO [X 7Ry AR n7]
JPRWTA I NN NIWOPR 702D PINR IOWIR TONR TN NP % N D
PRIOPT 27 B2 DR T PINRTR 1AM AR DT RIT R DR Sw maInT wn
PINAMY AT DY DI 0T OO WD RYT 1197 77T NP DR Y pInm DY DR N
0" DR PINMAT X 30 AR 77T NIOR BY I PRIVOP V' anD KRR KON PInnT By
T PN INY DAR 7T DIOR DW IR 7 DY PRIT 2w DR HY DI PRIPT
RORPY 772390 2w 199 B KD 7T NP DR T YXAT 1039 DA aw Yawan KD v''nn
9 1910 1" PR PINRAMW 91D AR T RO IR AR A NN ART A7 200 N
T NMOPAR M7 DY DI RDY T NIRORAR PINnT 9 DY B ananmw 1R aw ey
PRI KDY T DY 7T 2N KD AR MWD WP NIDDINTY AT 11D KU 59D
"D PR BY B0 PIMT PR 2002 IRTIT 212w 95 MW AT PR D PROMT MWD
PO DY [ODITD 0V " MR IR WP RO W'D MRm AR BT 70T IRRD
RY X7 37921 "1 JIROMT WY PRI 1927 whD RYN DT K92 277 b W'
B1AEAY 37O RY AN TN AN MW IT MDD ROINRT wimb 2''awnnd 1Te KAl

PITY TIIRTD PRY 29 IINST 9 NYTY RPY AR AT IYIMWWST AN

1) X

— D192 AR R? XNINT 277 — 7302 719 "R 101 297 — 50231 13PN M DR
227 7P "PR" pww 279

2) Xn»2
a) 0TI AW NYONT DY AP0 27N KITWD 72007 12w 11D ROX NP 1 T2 PR MR 01 M
3) o"awn

VY FTW W19 MM RIR RAPT WPnR KR DWHAD TR MWD M0 RITWwD
RITWD 7997 PINDT 2Y M 10 0N RYAN PINN2 DOWAND TR IR PRI TR
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D°VAIRT O¥ X020 MWSP 27N NIAR NMWUPR XD PNk DY 5°01m 0N
PINAI 2V PINAT T 07N RYAN R2W 71N PR ROWT RDKY Ywm

4) X

a) Nwp

1) The case counts as ""mm nR" the xn»72 is a &1 to the 7w w of nww 21 that
"nR" IS 201 P

b) v

1) 7919V Y7730 PRIMNWI K27 RN1OYD 7910 RNPIRTAT QNG OIRY

5) o"awn

a)

782 of the X*wp by the X
1) nnpn

(1) the omn intends for the pinn and the an in the nwp that’s 2170 to be Svan
the 7av aw in 49 other Prwrp

(2) the a0 ow can’t be on1 on the an of the 7m0 Sw mwsp to be jpnn the pinn
of the other yrwrp

i) noxw

(1) how is it that the imnn aw is i1 on the pinn — we ought to treat the pinn in
the mwop that’s 72170 as nx and the an in the mw»p that’s 7m0 as the M nn
— and for &1 27 since the 7n (the An) can’t be 7P a mmn aw for the
i the nX (the 7inn) also shouldn’t be 733p a 10 aw for the pinn

i) mawn
(1) Must be that nww 21 is right that if a person intends to make a »*>1to nX

"M — since the 7n (the 9n) isn’t Anp a w1 n aw the nx (the pinn) is anp
the entire 70 aw

b) =2 of the y1°n
i)  Xn»xTa the i is anp a mann ow for the pann
6) S"wann
a) Nwp to 0"awn — how is the xn*»12 a X°wp to yam1 27 who says nxnn 7 and would
accept that pinn in the mman 5w mwop is jpnn the pinn in the other prwp
7) nmvw of by "wann that’s different from the mv>w of o"aw"
a) The aomn intended that the Pnn in the mw»p that’s 7170 be jpnn only the pann in
49 other pRW°p because anor 1» a person is amn 1/50™ as m1an — as proved by his
using one mw»p to be jpnn 49 other prwwp
b) -or ' says that because of a wwn that the pinn in the mw»p that’s 7170 is less than

1/49" of the pnn in the other Pxwp — 1327 require that the amn be from a 7¥°23
as additional 712170 — but Xp>» x77 the pann in the mwsp that’s N is jpnn the
PInn in the other xR without the additional 7%°2> even though the result is the
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Pnn in the mwep that’s 7m0 is jpnn more than the omn intended — this is
consistent only with the nvw of nww a1 that 9377 m1p — but for 1am1 27 the nX can’t
be 113> more than the n1pn intended for the nx to be nap

c) the xnx answers that the case of mwop isn’t a "1 to nww 21 because Xn»xTnA
79°7 %Y Ay 1 PR7In — in this case from 2 on i

8) X"wann — 02 of the mvew of o"awn
a) xwp of the X

i) The omn intends that the 2n (the "an") and the pinn (the "nx") of the mwp
that’s 7170 should in general be jpnn the 49 other yrywep without intending
that the p1nn be 511 on the pinn

ii) in effect half of the 2» of the mw»p that’s fman is to be jpnn half of the = in
the other yxwp and the other half of the 2 of the mw»p that’s imn is to
be jpnn the pinn of the other xRy p — similarly half of the pnn of the mwop
that’s 77170 is to be jpnn the other half of the 27 in the other xwop and the
other half of the pinn of the mwop that’s 77N is to be jpnn the other half of
the pinn in the other Prwp

iii) the X asks that — since n217n can’t be i on the = to be jpni the pnn —in
effect half of the pinn of the Pxwp 28w wouldn’t be 32107 were it not for the
rule of nww 21 that the pinn (the nX) in the 0 5w mwep is jpnn in full the
P of the prwsp axw in place of the an (the ~an) that would otherwise in
vain be applied to half of the ,nn in the Prwrp aRw

b) The &3 answers that xn>>x7 the pinn in the 49 other xR can be jpinn by the
Tn in the 720 mwsp

c) Note that for this 7271 the ®>wp of the X3 to 11 21 doesn’t depend on a 71113 by
the o710 to be o7 n from P on pinn or to be an in the Nawn of 1:49 — it follows
that for its X>wp to 11 21 the & mx doesn’t rely on *ov "y who is pawn? w»n —and
the 7 refers to *o1 " only to show that the a°15 of nw»p is n

9) mooin at Mwopa M TR PR a7

XM 737 29 731 2107 KD An% pann XTI 0 OntIDT PRSP 9027 1100 70N
XM HY 9012 T D1 01077 MWD 1D NI MWD NN

10) &"wann
a) Nwp

i) It seems from the words "1 Sy " that mooIn doesn’t understand o"awn as
explained by &"wnmn — and mooin instead understands a"awA to hold that the
o7 intends pinn to be Sr only on pinn and an to be % only on n
b) y»n

i) mooin by "ar 9y am" actually understands o"awA to mean the same as R"w1an
explained — the o™ n intends to be om0 the mw°p of 717N in general to the 49
other xR so that the 17 of 2vam nx applies
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ii) and asks for o"awn why >0 "y —who is nawn® w>n that there not be enough
PInn in the ratio of 1:49 — can’t resolve his wwn without requiring a 1790171
7¥°2> — by having the omn say outright that whatever pini there is in the mwp
7170 5w should be jpnn the pann in the other Prwp

c) by the way mooin in the rest of the m12°7 disagrees with the essential 7171 of
a"awA that oy "1 is Pawn® wwin

INX NNl 21 2" Th 2 P70 AN NXRT X210

5oy N2 9577 RNODT 2R IRD 71 KD A NRY RAT 1D MK A A a2 'on
A1 PRYRRA RN2APN 2307 2O 71T TIAT 2w o 2" awann IR o
anm »''eh e B2 1P N0 AT RO TRAR IR MM DR MRT T anb
NOITY 122773 29° IR DTV IR KDY RIT 1AM AR N 32073 2% AR anT 7D hewT
9D NPT 27 MY RPIPT 21 MIDTINTY YRR RYT RYN 77912 1P N1 3T unp
19 2RI TN 292 1195 1R KD NN PO RN 99T 2P0 TRBW IPT RBINT
2N 5717 RY 1AM NRT RIS 2190 KDY 1P RDT K17 299 XX an7 0 K2 2"y

12'117Y BB 1 RDT 907 YRR vl

1) xn»m2

19712 5977 AR 2°IRN PW 77990 TR VPP NVAR CNW 172) DOW1 WA awIn
DIpn o1 NIARY WIPY S¥n KT A"YR 0OMO1 1R — NRT 7770922 0% nwnpn
TYITR NN 793907 MNP N2 IR MWK NP0

2) X naas explained by o"awn
a) TP
i) The x7nx assumes that the ny°351 are np the entire 79375 as PwI7Tp
b) xwp

i) the nvnx who couldn’t be nnp a pon1 in the 7%3%3 as w7 should count as
"11mn" and the n1v121 who can be anp a P2n in the 79595 as Pwi7p should count
aS anﬂ

ii) and for 17 27 the n1101 should be 7y nothing at all and for yama 21 the
no1 should be 29 only 3/5

c) The yyn of the X ma isn’t relevant here
3) mooin

a) The 0% follows jmm1 a1 that "nxmn T3P M NR"
4) xamxin PR

a) Nwp by 837 — it can’t be that the n1°101 are nwmipn — this is a case of 7vm nx and
739 K2 M DR

5) mooin as explained by x"wann
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a) X271 doesn’t ask that 159777 the n1121 shouldn’t be nnp anything based on k1111 2
—since in fact the 75%n follows jnma 21 that 7xnn 71 — 827 asks only that for the
muw of X117 21 the 17 should be that o195 73p &

6) X"wann

a) For the qvw of o"awn that the n1°151 were nnp the entire 75375 — mpon could have
explained that X2 asks his xwp also to yam1 27 — namely for yam1 29 the N1
should have been n1p only 3/5 — not the entire 793%5

b) But mooin disagrees with o"awA and holds that the xn»92 in fact says the n1>351
are nnp only 3/5 — the same as jam1 27

c) Note that the /w5 of xa1 — that the 7 should be n1p X% — suggests that the x>wp of
x27 applies only to X117 27 who says 0175 71p &2

N 37 'R 2" TN = "a 270 Amni nXT X21o

ROR 2997 PRIWIPI DO IR KD ROT7 901 M7 9" RN "0 M R PR "'
SAYDT QI IR TIPRY M IR MOIDT IPIDR PRIV BT HIB "2 B " oy "5 NN
BY 210D 372 RN DY XM T [ODUTY IR DOIN MINT 7 RYT 2N 77T NPT
ANSW PIMIT DY NI IR IOMT RIS PR AR PRIWPT B0 INW DR i

'™y 7oAy DR A1 PRIWOIPIN TAR DR MANIDR 70 AR AR RIT MDONT

AN Q7

ynv XN 2"t

B'OY 12 3PONT RIM ARW TAVINRT D' 1D 17 232 PR RN 7172 [2 7Y aap nT)
377 TU3Y 29021 MWOYR KNT2Y PRe{R}T 29502 227 wIIDD MY NI KDY
MBDINT PITONS KPR 9577 % X209 "D K12 721 892 B 0125 vo01 nas apbT

B

IN"AvAl 2" T

"2 WY DI IR ANIRT "D AM® N2 7R T KDY "D 29917A ymhawm ' Ta
RY 11937 29051 NN 2051 AW APD '0INT 1007 191 2" awnw 1 e B!y
KPR 19920 DWW AT TIND TR MATY 23R PR 1D 2190 2rTewn INRNT XYY M
TARY NAMA 2021 7AW BT 2MRwR IRIRIT IN I 937 WWIRT "D mwRY nwwaa
RYT72 MR 9D D W PR '0INT w''AD Inwawd 2''avm MaT a7 'ownn 2T ban
SY PV TRV M2 TR MD IR NIATY W'D 29001 N WA Q%0017
MNT? RDIR DWW RNWTT "D JT2wR IRIXAT KPR P9 IDIA2 WY IOR M2m Ty

TR'TY 219D DR INORNT KDY LR ARMW®Y "D N2 ROW TR

1) mwn
@) YXMRY WPAWT 0°0217 DR DO1TA AW 0201 229173 0212 17037
b) "vxnKk5" means that the o%avp share in the maw
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2)

3)

4)

5)

6)

hqulab)

a) this applies only where 2°031 nnin 2°021 12w — but where 123y niann 2°021 2w
the maw is 1n¥y% meaning to the 0>517)

n"awn

a) 7%V nanm 0°021 2w means that the 02173 were o2 nw or used their own
money

0" as briefly referred to in moon and as detailed in *"wx N

a) naw counts as 1axy nanm only if 09173 used any of their own money to pay others
to work — it’s not relevant that they were 09132 i

mooIn
a) n7pPn based on the X na at :an A7
i) MWwna XPw 17%2an a7 N2 7 is paid for 191 nnnw and for money he spent

i) And a amw who works mwn2 &> also is paid for 191 nnnv and for money he
spent

b) xwptoa"a™
i) Why don’t 29173 o°*mn° get paid for their xnv the same as 77vn and amw
R"wIN

a) this is obviously no xwp for o"awn who says if the o°5173 were 0912 7w the case
counts as ¥y nann 0031 1AW

NN90IN2 n"'1Tn

TBIRD N0 MW 777 INT 712 9153 29ING 1M AN 19078 RNOOIN2 71" 7a

Inxy? Infawn A" TN

PTIR PR RIT NI N2 RPWT 1D TIPSRTAT 28 DY ONY xyh waws a''7a
TARPT 100 ROITT TOPOMTT RUTIR WD RWP INM ANMND 'Oy 10 Jup 2oo1v arp
21 INST ININT 2P NIBOINT 120D 191 INT MWK KOT an7 2''Rwn 7% YOm0 I8a
RPN RTOM 27 9027 ORRD ™7 32p° Mo w'aT D' "D avarp R 7R
PODMT ORMD DAR 2021 NAMA QIS AW ROTT PANUNRD TOPSRIT RUIT NNATY
AT RO UTY ROWP RP RIIRY JUR 20DID 2P PTIR PRT 2R AN RTON 277 RAYY

1)

2)

3)

25'mY JUR 0I% 217 PTIIR T2 PR AT PT N7 91D INT MARY 1° OY»
First ma7pn

a) See the prior m12>7 and the nv>w of 2"aw" on EY nann 2°021 2w and 0°021 MY
0’021 N

Second nnTpn — mwn
a) Even if o°021 nann 02021 112w the maw is 1axy? if 27173 o said "xa"
Third an7pa — X3 in 7pona o as explained by mvoin here at ww X7 "7
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a) PO°X 727 was rawn the ovoo1 of his father who had died and didn’t say "\R1" —a
Tup later proved that he was a brother of poox 92 >

b) X701 27 at first said that the naw was v¥aX? because 0°021 nann 2°021 AW — 27
x7017 afterwards said that the reason the maw was vxnx> was that 2179 P71 PR
0P °0217 and PO°R 12 v was 7"2 MIwN2 RHW 7

4) mpooin at 1w RS 7"7 explains for the case of poox 12 »n that o°9173 by saying X1 give
to o°1vp the chance to arrange for their o°21p also to hire °%319 from oi3°2x n°277 noon
—and if the o°1vp don’t act — they’re 9mn their share of the naw

5) 1axy? yrawn 8N
a) Nwp

i) inour X3 why is 1ey% nawn — based on the case of ook 22 > n in 7poni P
the naw should be yxnx? since the mawn here also deals with a°1vp and the
0°9172 were also 0°217p who were jup °0201% 7"2 Mwna Row 77
6) X"wann
a) Nwp
i) why doesn’t maoin answer that the mawn here deals with where the o°%17 said
NI
b) yn
i) mooin at 1w X2 7"7 means that w7 is relevant only for the first mow of k701 20
before he realized that the proper reason for ruling for po°x 12 >n that maw
YXnRY was that Jup °021% 217 1770 PR
ii) but mooin agrees that for the final 7w of &7om 27 that’s based on 17> PR
TuP 0212 2P the 17 for poox 12 »n that v¥nR naw would apply even if 22>
PoX had said "wx2"
NP Q7T

JITIN 2T

NODR W2 By 15 ROITPY ROITD N7 11D ANTIR "3 MTIN 77172 [R TR TR 07]

'Y M PO RV TORN

NYII' DUNA 0" TN X 770 v QDUNT X120

"D AR J2INT IR 'INY 257IAR 2pYY NRY NS TAUIpa B N wRa 1''Ta
12 MM 2PYY NN D'ARY 2TIP YRR J2INT IR D72 9D R o b'oy
SH MOIT TR INTT RIWOD AWH 97D WD D57 MDDINT PaAR "D YRR NaY 218
"D MO 77 INT BRI "D NITD DOIR HYanw 11907 aps ' w''nan 1o shya

t2'1TY 2R RY IIDPR BUNRT obT

1) mwn
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2)

3)

4)

a) Ry

i) VEPRY Om°2wa 2°0237 DR 3mawnw 7°va naw awea — and the oomine share in the
naw

b) xo°0

1) 7nRY? amawn nYINY WY IR 077 °5v2 %% mInw 7 W 7R ok — and the o
don’t share in the n2w

Xn3
a) 1oxw as explained by o"awA

7N N7 R 7N IR 72 770 N2IND ARN IR — 0TV ORN PRIN° 20012 TR
DOWINI N2 1ONWER 77 PRI W VT AwYm ol

b) nawn
i) The mwn deals with where an 7w is o°021 nwaY together with oomine
n"awA
a) Here are two cases in which an 711%x joins with om0 in being 0021 WA
1) First case

(1) 32387 and nynw are oKX Who are 2py° °12 — 12187 Was 11vaw N2 R — 121X
and 1wnw died and afterwards 2py° died and left a°oo:

(2) It follows that 32181 *12 @10 share in 2py° *021 as 12187 °12 and that nwx
12187 shares in 2py° >021 as wnw N2

i) Second case— to be explained below
(1) ©°127 12 3277 N2 P27 PA N2 NI W
mooIn

a) In the first case — contrary to o"aw it was 2py° who died first and 1v»w 1289
died later —321%7 °12 were wny the share of 32187 in 2pv° *021 and Jwaw N2 was
nwA the share of nwnw in 2py soo

b) xwp
i) Since nynw na was nwar from Nynw how can she say 12187 *5v2 % moI7w 77 XY
c) y™n

i) Because J23X1 was Nynw N2 Xwil — 1217 ate Mo of the o°021 that 1wk was
nwa from pynw — and when 32187 later died and the 7wy again took these
0°021 she said *7v2 *% mInw 77 W)

5) R"wann

i) Note that in the first case as understood by a"aw- — where 2py° died after 12189
and Pynw — 12187 never ate Mo of a 17w that belonged to ynwx

i) And this is why maoin prefers to say in the first case that 2py° died first
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nYR NXpI TN 2 770 NWUAIP QAWUNT X1AI0

N2 0 IR T 2"MawN @R w7 B oy "1 vHhua O 1T TR INDT RIwH 'Y 7''Ra
N2 2w% @Y HYa M 1T 7R INTT RIVOD TR RN TINDD "D 327 N2 IN NaT Pa
T2 MRY NP MR TV PPRRD WA NYRR N2 RWIW J2IRD ' w1900 Nan Pa
T2INTY 2012 PYARD WO 2°1277 1°2 J27 N2 WADY O 7T 1YY 2°12 RDA IR0 2X N
NN PR 23 1IN DWR N2 NN PO OIT RDY 127 MR DRY PR j2 N2 Xen
T PR DR 20127 P2 J2INT AR DR PYRR 2 N2 RIAI J12INT 23 1R O''INRY
N9 @ XD 2'"awm 30 9INY 19127 EPY 2100 1 717 KD 70 2" awn nane 797 an
BB TR RPY RPIT 73RN 1PIVD RDWOT wNSR RATR "D 99 11037 172 1N N2U02 InpT
SR MY WA TWRD IVR RO DAR DInna WA IRNID DN wNa
TINDRD M RWOT RRPIND ¥ RDT {wanl man 2 nafi) wan paR nweta

TP INTIAY NP AN Y0212 TR J1IDTDTD

1) x"wonn
a) Presumably this is what o"aw= intends in his second case

1) MI27 12 N2 means "wnn N33 172 2" — that there are no o°nx and the nwx is
nwAy together with her mivp nrnx

il) ©°327 12 71277 N2 means that

(1) the nwx was 2p¥° 32 12381 N2 — 123%0 died and left no other o°12 or miaa —
apy° then died and left o°avp o°min° who were 12187 nX

(2) it follows that the nwx is nwy a share of 2py> *o21 in the place of her father
12187 and she shares in these a°021 with o%1vp 2°nr of 1218

2) X"wann
a) Nwp
i) In what sense does the nwx say *7v2a >% 17w 7 WX
b) v
i) Maybe o"awn means to apply this 7" nv>w to 27 2 na

(1) 123%7 and nynw are oonx — Nynw had only 12 and 12189 married one na —
nvaw died and then 121%7 died and left no a°217p other than waw miaa

(2) nvnw na shares 12187 *001 with her nynx and says *7v2a %% MW 77 WX
because the w1 is from 32187 "023

i) And 0"awn means to apply for 2°127 12 327 n2 this y17°n similar to what 79
said for 0°1277 1°2 327 N2

(1) 323%7 and nynw are oonR — 12187 has no 212 — Nynw has 0°1a — the AwR is N2
of a wnw 12 who has no other o>wn1 — 2187 was xw this 7wk who is na
Mynw 12 — first pynw 12 died then nynw died and finally 321%7 died and left
0°021
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(2) it follows that 121%7 *wAy are Nynw 12 and 12387 nwX who is w»w 32 na and
the WX can say 12187 22 °% 1w 71 R

c) wwp
i) If 2"2wn meant one of these cases why was he 2xpn
3) Twnn of X"wan — a different 7273 on o"awn
a) refer back to the nw? of the mwn
1) RW™M — YXARY O0°2Wwn 020337 DR 77°2WIw 772 DY JWR
i) RD°D — NXYY AW NP TWW OIR 77 09¥2 00 MOITW 1 IR TINR OX
b) Note that the w1 says nothing about "2 °% minw 771 X"
c) Now

1) The x*wp of the &7n3 that "7inT°2y R 02 *0212 TwXR" applies only to the xw*
and it’s to answer this X°wp that the X3 says the xw deals with nwr nw —it
follows that 2"aw in his second case can mean wan N127 31°2 N2 and it’s no
xowp that "%v2 °% manw 71 X" doesn’t apply

i) the x9°0 doesn’t deal with an 7w& who is 2°031 nw1 — instead the &5°0 deals
with an man>x who decides to take her 72102 in the place of mara and is mawn
9y >0o1 during the period before 7"2 arranges for her to receive her 721> —
the mawn teaches that if the 7198 say7 NP2 7w 1K "3 ... WA she shares in
maw during this period

d) This 72% also answers the x*wp by mooin to o"awn that *5v2 °% mo1w 77 IR
doesn’t apply to the first case as explained by 2"aw"

e) TORW

1) Is it possible that the X7 also doesn’t deal with an 7wx who is °021 nwaY
and instead deals with an 735x

f) nawn

i) Unlike the x2°0 where the 7wX says n?21%1 7wy *IX *77 ... W7 and we can
explain that the 7wy is an 7Mo% who’s n?2w1 7w w until she is paid her 712103

i) The xw> mentions nothing about N2y 7wy *1x °7:7 ... W and unless the xw™
deals with nway wx there is the Xwp that n7°2y *8n nn° 0212 TWR

g) See also o"aw" on the 7awn at 778 X "7
) AITAR

N9 N a7n 2" Th

PRI 19 WO IRIDI2 RT3 RNSLIND 10T "5 REINN 700 712 [2 7MY TR 07]
SINPT RT3 ORITT TNIRDY B''OY "9 PI9OT PR ROTT DIIRI MINAS KT T AP 0
Y9577 IR DIIND AR RO 719 JOMPIATS YWD STOMS SIORT ORP PNOINMR KNDOIND
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TANP 1D WO P2 PN R0 DIIN2T RON T2 VIR 1A KD 1Y 10 2R 0T Dan
YOY AN 9Mam ARY DR RDINI RINZ D22 PR PR Y2 bar azp W PR
QITONATAT WIIRTT MM2TRY 1 aRTT WA 23 ROTT MIDDINT MN2TR 1D YRR KRBT
2ITON2T PO W NPT DY ROIT 'OINT 2T WL INYRRN IRP TYOWDRT YRR
YARY DR RINA D22 12 PR PR T IPIT RO ROTT I0 PEAR w0 DIIN2Y RANT ID
T TR Y IARY DR RDIND YINR DN P2 YWD 2 PNNUNNRT TR '
"ERT R''72 RNDTIN2 P "D PP R0 DIINDY ARY DR RAT NINMN D2 ywnaT
TAZY DR % RIN anDT X P PAYARAY 7a8R 10 WO INIDN AR D 21IN2
RDINI 723P W PPRAT P9 RO D1IND DA 7YOWDa KON 1N KD ;723 9 N2 19BN

SP'ITY MW 9N2T 2R AIRDI I0 97O R I {UINNRT ) (R )

1) mwn
a) XY SWn KON RDINN FPNW DONRT 1A TR
2) Xma—7an
YXANT M RDINI DN 77917 92X 79°WH2 7972 ROR W KD

'R X720
o132 7917 AR SwnT Nw X2
pRdaN ey Talplopht 77972 ROR 1Ry
7yWwo2

3) 7w of mpoin

RDINI 72X 79 PRY 7IRIDI LA 7P 79 WO ARIDIA K72 KNHOINI KOIM
7P 72 WOR mA%p 72 PR P2 P12 PR RO DRI VIART 0

4) R"wan
a) 12xw on the "o Ak 0127 Ana" in XNOOIN
i) does oKk 0127 A2 limit My Ywn to nyws as in table 2

'2 X920

012 77712 DaR 7vwn27 R'"72
VYNNI 1 2o MY Swn Sun
12 W2 197X 12 w2 RPYT
%P 72%p

i) Or does ok 0°127 A2 limit yenxa 1 to onx as in table 3

'3 X9V
SN 7Ywoa PaR | v 0127 XT3
129DR 1%V Hwn RpP>T VAR N
79 PRW IRV | 77 PR ORIDI2
72%p 7axp

iii) By way of summary for the two tables
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5)

6)

7)

'3 X920 '2 K72V
MRV Hwn XY Hwn 72%pP2 7Ywoa
MIY Hwn VYNNI 10 TR 7V woa
7a%p
MIY YU VYNNI 10 73¥P2 DN
VYNNI 10 VYNNI A | 72%¥p PR32 0O1NA

b) nawn

i) 77R3% the Xnoon deals with 7y>ws as in the second table — the same as 121
who 77857 in the first table says that the mawn deals only with 7vows

ii) This 977 is supported by the words in noon that "pY?°n X X577 01821 that
suggest that for onx there is no difference between 72xp 12 v and 723¥p 12 PR
and for both v¥nR: 7 XDAN1

Twni of X"wnn — see also n"2m M

a) v explains xnooin as in table 3 while qoy n°a says moon follows table 2 and is
mnnn why M0 doesn’t take mvon into account —it’s also ynwn that 1"ana and w"kA
hold that the xnaon deals with nyw»

X"WAnn qwnn —a 7onn to explain the qvw of v
a) The mawn says mxy Hwn koan1 for both gy wo ("kw1") and onx ("xo°0")
b) xnooin is waon that the nawn says wxy Hwn only for maxp 1% w»

c) mooin says "onra" to teach that xnoon is porn only in the xo°0 for o1x —because
"xo17" [meaning in the xw for 7y>ws] there’s no 2 m and in all cases wn xo7n1
Ny

Further qwni of X"wana for the qvsw of 7w as in table 3

a) "pnynw" [meaning 1°27 in our X n3] accepts that the mawn deals with both nyws
and o1X but teaches that

i) although the mwn deals with both v°w»s and o1k and isn’t p7rn between 15 w»
72gp and 72xp 19 PR

i) still
oW ROR [728p 17 PRY 72%p 12 w0 P2 1RYAn PRI RID 17 anoT] uw X7
"YRART 12 KON [72XP 12 PRAT 21270 W] 01N DA yowo2

b) See n"a7 miaan that apparently also follows this 72mn

D'NY 0'1T1 790 n"'Th

B H''oy 15 RAORTD WY IN 257 N1V IN RY "1 29w 3752 Ba '

D'NS D'2'¥n yin 0" TN

1D RNV ORTI R DR 11D AR MAPRI2Y 1D 21T P 1T 290 2R P '
B'RY RO 2ORW 3792 RIT QW WO 2OMDT YRR KD MADRT RIITT B0 B0y
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M1 IDR P52 NIDDIND IOFY WA D PHR 2MET 2" a0 WD PIRNAT 0D
' my

NN Q7T

NNl 21 INX KNa
TH1'RD "D AR WATIR 23R o2 1AM 27 AR RO [R TR R 07

NI'A? "X NIDOIN
H''XD "D 79129 KT 920 9'17 19mh RSO 10 77K 9% KDY Damnn a7 L' 'on
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	דף קלט:
	תד"ה אמר רבן גמליאל
	תוס' בד"ה אמר ר"ג כו' ור"ח וה"ג ורב אלפס פסקו כרבנן כו' ור"ת אומר כו' עכ"ל ר"ל דר"ת הוסיף לומר אההוא פסקא כרבנן דאדמון משום דאדמון גופיה לא פליג וכדי ליישב ההוא כללא דכתובות דכ"מ שאמר ר"ג רואה כו' הלכה כמותו ודו"ק:

	דף קמ.
	סוגיא דמרובין ונתמעטו חלק א' רשב"ם ד"ה לא ממעטא
	[דף קמ עמוד א] בפרשב"ם בד"ה לא ממעטא כו' וכבר זכו יורשין והבנות יזונו עד בגר כו' עכ"ל דבריו תמוהין לכאורה כיון דמדמה להו למרובין ונתמעטו וכבר זכו בו יורשין אמאי קאמר דבנות יזונו עד בגר הל"ל דיזונו שלשתן יחד בנים ובנות ובת אשתו כמו שפירש גופיה לעיל גבי...

	סוגיא דמרובין ונתמעטו חלק ב' תוספות ד"ה יתומים
	תוס' בד"ה יתומים שקדמו כו' וא"ת כיון כו' מה חילוק יש בין נכסים מרובים למועטין כו' עכ"ל ר"ל דודאי איכא בינייהו דבמרובין יזונו בנים עם הבנות עד בגר ובמועטין הבנות יזונו והבנים ישאלו אלא דמאי רבותיה דמועטין דנקט שקדמו ומכרו מה שמכרו מכרו כיון דאין חילוק ...

	סוגיא דמרובין ונתמעטו חלק ג' תוספות ד"ה מה שמכרו
	בד"ה מה שמכרו כו' ופי' בקונטרס זכו בהן יורשין של כתובה הקטנה ופליג רב נחמן כו' עכ"ל התם ודאי ניחא להו לפירושו דאזלינן בין במרובין ונתמעטו ובין במועטין ונתרבו בתר שעת מיתה כמ"ש הרא"ש שם אלא דהכא קשה להו במועטין ונתרבו דניזל נמי בתר שעת מיתה ומשום דלפיר...

	סוגיא דמרובין ונתמעטו חלק ד' תוספות ד"ה מי אמרינן
	בד"ה מי אמרינן כו' הג"ה וכ"כ בתוספתא ותיזון כו' הכל יהיה לבנות ואי כו' עכ"ל צ"ל דהאי פירושא הוא ממש כפירוש הראשון שפרשב"ם שיש כאן נכסים מרובין אי לאו מזונות האלמנה ויש כאן דין נכסים מועטים בשביל הבנות אבל לא שיש נכסים מועטין ממש בשביל הבנות ומ"ש בתוס'...

	סוגיא דמרובין ונתמעטו חלק ה' תוספות בא"ד לא תטול
	בא"ד לא תטול האלמנה כו' הג"ה ואומר ר"י לכאורה כו' כתבתי בפנים ע"כ הגה"ה וכן משמע בירושלמי כו' עכ"ל כצ"ל האי וכן משמע קאי אדלעיל דלא קאי הך אבעיא דמסיק בה אלמנה ובת אלמנה קודמת אלא בשיש בנים עם הבנות שיש כאן דין נכסים מועטין והירושלמי ניחא לשני הפירושי...

	רשב"ם ד"ה אם
	[דף קמ עמוד ב] בפרשב"ם בד"ה ה"ג אם כו' כדאמרינן בגמרא והא זכר כו' לא היה חפץ בלידת תאומים א"נ אין לידת כו' עכ"ל ר"ל לפירוש ראשון דאף אם לידת תאומים הוי נמי בכלל לשון אם זכר כו' מכל מקום מספק לית לן למימר אלא דדעתו אזכר לחוד ואנקבה לחודה קאמר ולא תאומי...


	דף קמ:
	סוגיא דולדות קדשים חלק א' רשב"ם ד"ה רבא אמר
	בד"ה רבא אמר כו' אין קדושה חלה עליהן דבריה הוא כו' לא יחול עליהן קדושת שלמים ועולה במעי אמן כו' עכ"ל לא הבנתי דבריו דבולדות קדשים אי הוו קדושים במעי אמן הוה חלה קדושה עלייהו אף על גב דבריה הוא דמשעת התחלת יצירתן כל פורתא קדיש ומש"ה קאמר התם דקסבר ר' ש...


	דף קמא:
	סוגיא דולדות קדשים חלק ב' תד"ה אלא לאביי ובא"ד אבל
	[דף קמא עמוד א] תוספות בד"ה אלא לאביי כו' אבל לרב חסדא קדושת אמו חלה עליו כו' עכ"ל ר"ל וה"ה למ"ד בהווייתן קדושים דחלה עליהן לרב חסדא אלא קדושת פיו לא חלה עליו והיינו בבהמת חולין דבבהמת קדשים בין {אלו} בהוייתן {הן קדושים} בין {אלו במעי אמן הן קדושים} ...
	בא"ד אבל אין לומר דלרבא כו' מכל מקום רישא דאיירי בתנאי ב"ד במזון הבנות כו' עכ"ל ולפי זה יהיה סברא דרבא הפוכה מדאביי דלאביי רבנן דפליגי התם מודו הכא במזון הבנות ולרבא רבן שמעון בן גמליאל דפליג התם מודה הכא במזון הבנות ודו"ק:


	דף קמא:
	גמרא והא זכר ונקבה לא אמר
	[דף קמא עמוד ב] גמרא והא זכר ונקבה לא אמר דאמר נמי אם זכר ונקבה נמי כו' ותנא כי רוכלא לא חשיב ואזיל כפרשב"ם ובמתניתין לא בעי רשב"ם בפירושו לומר הכי דאמר נמי זכר ונקבה ותנא כי רוכלא כו' דא"כ הוה מפרש ליה תלמודא הכי אמתני' כדמפרש ליה הכא אברייתא וק"ל:

	גמרא ולימא לי' ר' יוחנן בן ברוקה היא וגמרא ולימא לי במבשרני'
	שם ולימא ליה ר"י ב"ב היא וסבר לה כר' יוסי כו' ועדיפא מדר' יוסי דר' יוסי שאני ליה דדווקא בירושה מאיליה סבר דזוכה העובר אבל ר"י ב"ב ע"כ לא שאני ליה בין ירושה מאיליה לירושה מחמת עצמו דהא סבר דמוריש אדם בן בין הבנים וכיון דאית ליה כר' יוסי דזוכה העובר אין...
	שם ולימא ליה במבשרני כו' ולפום סברא דהשתא הא דעדיפא ליה ברתא מברא ליכא למימר אלא במבכרת ובחדושי הרמב"ן דה"ה דה"מ לשנויי נוטלת נוטל מבעי ליה וק"ל:
	האומר אם תלד אשתי זכר מנה אם נקבה מאתים וילדה זכר ונקבה זכר נוטל מנה נקבה נוטלת מאתים

	תד"ה איתיבי'
	תוס' בד"ה איתיביה רב נחמן כו' א"נ ר"נ איירי בעובר שאינו בנו ומוקי מתני' בבנו כו' כר"י לקמן כו' עכ"ל ורב ששת דקאמר מנא אמינא לה מההיא דגר שמת כו' דאיירי בבנו לאפוקי מרב הונא קאמר דלית ליה מזכה לעובר אפילו בבנו ודקאמר נמי רב הונא לטעמיה דאמר אף לכשתלד ל...
	רב הונא לטעמי' דאמר רב הונא אף לכשתלד לא קנה
	דאיתמר – רב נחמן אמר המזכה לעובר לא קנה לכשתלד קנה – רב הונא אמר אף לכשתלד לא קנה – רב ששת אמר אחד זה ואחד זה קנה וגמר לה מן ברייתא דגר שמת דהרי באופן דברייתא ליכא "כשתלד"

	סוגיא דעובר פוסל חלק א' הקדמות
	סוגיא דעובר פוסל עבדי אביו חלק ב' תד"ה דתנן העובר
	בד"ה דתנן העובר כו' פוסל עבדי אביו אם הוא זר במעי כו' דהא פשיטא כו' כ"ש אם הוא ישראל כו' עכ"ל לכאורה צ"ע דהיאך ס"ד שיאכלו בתרומה עבדי אביו ישראל משום שהוא במעי כהנת ומאי פוסל שייך בו דהא לאחר שיולד והוא זר מכ"ש שלא יאכלו שהם עבדי זר ויש לומר בעבדי אבי...


	דף קמב.
	רשב"ם ד"ה לכשתלד
	[דף קמב עמוד א] בפרשב"ם בד"ה לכשתלד קנה כו' אף על גב דפליג ר"נ כו' דאין אדם מקנה דשלב"ל הכא כו' עכ"ל עיין בזה בהגהת אשר"י ושכתב שם עוד בשם ר"י דסברות רב הונא הפוכין מדר"נ בזה וק"ל:

	סוגיא דעובר פוסל חלק ג' תד"ה בן יום אחד
	תוס' בד"ה בן יום אחד כו' ולא דחי דהך ברייתא כר' יוסי דרבנן נמי לא כו' עכ"ל מיהו רב הונא ור"נ דס"ל כשמואל דלרבנן עובר לית ליה זכייה הוו מצי לדחויי הכי דהך ברייתא כר"י אלא דבלאו הכי דחי ליה שפיר אביי ורבא וק"ל:

	סוגיא דעובר פוסל חלק ד' בא"ד וי"ל
	בא"ד וי"ל דהתם תלינן שמא כבר כו' מת העובר בבטן ולית ליה זכייה (הכי) עכ"ל ר"ל דהתם כיון דאיכא למיחש להכי שכבר מת אף על גב שאינו שכיח סמוך ההוא מיעוטא למחצה נקבות ולא יאכלו בתרומה אבל הכא אדרבה אית לן למיזל בתר רובא דאינן מתין עoד שמפילין ואית להו זכייה...
	גר שמת ובזבזו ישראל נכסיו דקא סברי דלית לי' יורשים לאח"כ שמעו שאשתו דגר מעוברת היתה ולבסוף כשהפילה אשתו החזיקו מקצתם שנית בנכסיו וקבעו דאותן שהחזיקו בראשונה – לפני שהפילה אשתו – לא קנו ואותן שהחזיקו בשני'– לאחר שהפילה אשתו – קנו

	תד"ה נוחל בנכסי האם
	בד"ה נוחל בנכסי כו' וכגון שלא היה לו אלא העובר לבד כו' עכ"ל ה"מ לפרושי בכה"ג אפילו ביש לו עוד בנים והקנה נכסיו לאחרים אם לא ירשנו זה וקתני דדוקא בן יום אחד נוחל מאביו להנחיל לאחיו אבל עובר לא ויזכו בנכסיו האחרים אלא דניחא להו לפרושי הכי דאינו דומה שיק...


	דף קמג.
	סוגיא דאת וחמור חלק א' גמרא ואמאי את וחמור
	[דף קמג עמוד א] גמרא ואמאי את וחמור נ"ל לפרש לפרשב"ם דמשום מיחוש דיש בפנימי של תרומה מר יותר מבאינך צריך להוסיף מתוק כביצה מקישות אחרת ומיהו מדשמעינן מר' יוסי דפנימי של קישות מר הוא ה"ל את וחמור שהמתוק והמר של כל מ"ט הקישואין אמר שיחול על מתוק ומר של ...
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